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1. ¢ vl & A={x|]-2<x<3} » B={x|x>0} » B AUB=( ) o
(A)[-2, 3] B) (0, 3] (C)(O0, +o0) (D)[-2, +0)

2. ¢ s )=l TR 0 ¢ § ORBARRAL( )
A)3.3) B)(. 1) ©(1,2) (D)(2.3)

3. F a>b o >d>0 0 Bl- %F ( ) e

(A) ac>bd (B)ac<bd (C)% >§ (D)t % %47 4

1
4. & & ag=log2 > b=sin471r v =23 R( ) e
(A) a<b<c (B)b<a<c (C)b<c<a (D)a<c<b

5. Given the vector (% &) O_A)=(cos S, sin ), the vector OB is obtained by rotating
(*Z#%) the vector OA counterclockwise (i# P¥ 4*) around the origin O by an angle 6
(where(0°< 6 <90°)), then which of the following statements is incorrect?
(A)|OA|+|OB|>|04-OB| (B) [4B|<V?2
(C)|0A+0OBJ=|0OA-0OB| (D)(OA+0OB) 1. (OA-OB)
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6. & Frdidic fix)=ax*tbxtc » ® a>b>c > atbtc=0 > RI( ) e
(A) Vx €(0,1) > 83 flx)>0 (B) vx €(0,1) > 383 fx)<0
(C) Fxg €(0, 1) > & ¥ flxg)=0 (D) 3xy €(0, 1) » & & flxg)>0

7. R f)A T E R 2 Z Iy SHe ¥ xe(0, DFF o flx)=logi(1-x) > B I
2

B flo) e B (L, 2) 1 ( ) °
(A)E3 S ? flx)<0  (B)A3g St flx)>0
(O & Sl r flx)<0 (D)t St fx)>0

8. % fix)s R} e Sufic > ¥ 4(0,+o0)+ b vhs » A1)=0 A7 % 5% fx+1)<0
DRk L (A) (1,00 B)(O, 1) (©)(1,2) (D)(-00,-2)U(-1,0)

SR (RS A £ 404)

L 73 %58 Prarth>0 i3 § 5 (00, ) U, +o0) » Rl avb=_

2. F fix)y=xtaxt3 > 2 ? geR> F S f(x)F A BAAPEHE BF B> B g BB

I, x>0
3. #5308k sgn(x)={0, x=0 » |3 # f(x)=sgn(Inx)-In’x 7F B # 2
-1, x<0

4. As shown in the figure, 4B is the diameter, C is the midpoint

of AB, point M lies on line segment AB. If AB=2, then what
is the range value (P~ i& 4 [¥]) of |A_()?+]\T3)|?

Y

A M B

5. % &'rﬂif(x)zcos(cox—g) (@>0) » & filn)< ﬂg)aﬁ ER R xS 2 Rlofhic] &

*
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6. %’f(x)=ln|a+2i_x|+b X4 S8k P atb= o 2. ¢ i‘rﬁ'yﬁ';:f(x)ZIngzill )
()% fla)=1 > F*a i ;
Q)& %73 B flx)end B > T HEP Rakddh
N N % iF 4 B IR e , i
LSRN EET BT MEHAEDOR gy fmm g1 x€[3, too)ln A = 0 KF Bem i ] -
e BRSPS o 0 A A AR AL

LS %Li o BRKF A B L AR T AT AR o TRAT [ R E AR TR
o FRELD FRepES A o
A
8. As show in the figure, in sector AOB with radius of 1 unit, £
AOB=120". If P lies on arc AB, then what is the minimum
value of AP+ BP? O B

S EA (FRI0A 0 £ 204 0 HB [ EER T FERS)

1. &AABC ¥ » N & A~B~C ¥t s sl a~b~c s bsind=\/3acosB -
(DK% Ben= ]
(2) c-a=1» b=\7 » £/\ABC 15 # -
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